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IMARET 79,163 194,022] 94,667 99,355 43 A 64 103 187  483] 463 420 420
FiE 564 1,515 731 784 A1 A4 0 1 2 2 0 3
VL 82 222 108 114 0 A2 0 0 0 0 0 2
b 121 341 159 182 A1 0 0 1 1 0 0 0
B 243 619 307 312 0 A2 0 0 1 2 0 1
T2 118 333 157 176 0 0 0 0 0 0 0 0
g 27,620 64529 31,132 33,397 37 A5 32 67 189 153 147 153
BI—TH 207 423 222 201 A A 0 1 1 1 1 1
BIIZTH 284 568 260 308 A2 Al 0 0 3 0 0 4
BII=TH 555 1,150 586 564 A4 A4 2 2 1 4 2 3
B 472 1,270 580 690 1 1 1 2 0 0 2 0
RIE 1,524 3,777 1,790 1,987 0 A1 1 2 11 16 5 10
ARiE 150 328 160 168 A1 A 0 0 1 0 0 2
A& 441 1,127 523 604 3 3 0 1 6 3 1 0
AEH 379 1,025 406 619 3 0 0 1 3 5 4 1
KB 29 178 67 111 0 0 0 0 0 0 0 0
FE—TH 688 1,322 612 710 3 2 1 2 6 3 4 4
FET—TH 395 803 387 416 0 A5 0 1 1 4 2 3
F¥ET=TH 470 977 498 479 0 1 1 0 5 2 2 5
FETETH 371 852 404 448 A3 A9 0 3 3 9 2 2
FE—TH 505 1,073 482 591 0 A6 0 1 1 5 3 4
FEZ-TH 415 953 466 487 A3 A4 1 1 1 3 0 2
hET=TH 466 1,071 516 555 2 4 1 1 8 4 2 2
EET—TH 503 1,046 494 552 1 1 0 1 1 0 1 0
ERT—TH 348 749 354 395 0 A3 0 1 1 2 0 1
ERT=TH 457 1,041 495 546 4 5 1 0 2 0 2 0
JEETET B 456 1,110 551 559 0 A2 0 1 1 0 0 2
AET—TH 254 557 266 291 A2 A3 0 1 0 1 0 1
AET—TH 519 1,156 541 615 A3 A9 1 1 1 2 2 10
AET=TH 433 824 373 451 A2 A4 0 2 1 0 0 3
AETETH 342 842 411 431 0 Al 1 1 1 2 0 0
BA 12 27 15 12 0 0 0 0 0 0 0 0
HE—TH 224 500 229 271 1 2 1 0 2 1 2 2
HET—TH 193 449 209 240 2 5 0 0 1 0 4 0
MET=TH 361 949 452 497 1 1 0 0 0 0 1 0
FEETET B 335 719 365 354 3 0 0 2 2 1 2 1
FE—TH 360 873 425 448 3 5 0 0 1 0 4 0
EHT_TH 218 551 270 281 1 0 0 1 3 3 4 3
HFEI=TH 426 923 473 450 4 4 0 1 3 2 4 0
FHEMTH 423 1,115 550 565 1 4 0 1 1 1 7 2
HFETRTH 450 1,034 519 515 A3 A3 2 1 2 2 2 6
HET—TH 788 1,800 874 926 A2 N 1 3 5 6 10 8
HET—TH 197 443 213 230 0 A1 0 1 1 0 1 2
HET=TH 495 1,218 595 623 1 2 1 1 4 2 4 4
HETMTH 193 466 224 242 A2 A4 0 1 0 0 2 5
HETRATH 389 1,004 491 513 8 7 1 0 8 0 4 6
WL—THB 723 1,627 789 838 5 14 1 2 14 5 7 1
WIL=TH 498 1,182 535 647 A3 A3 1 2 1 2 1 2
WIL=TH 544 1,254 605 649 A3 A3 0 3 2 2 0 0
WILmTHE 196 494 225 269 0 1 0 0 1 0 0 0
RE—TH 1,373 3,142 1,613 1,529 8 5 1 3 22 10 11 16
RET—TH 662 1,527 749 778 A A 1 3 3 4 3 1
RET=TH 509 1,205 594 611 4 8 0 1 6 5 14 6
BRETET B 49 117 52 65 A N 0 0 0 1 0 0
RETETH 714 1,542 778 764 2 A1 0 2 5 8 4 0
RETARTHE 0 0 0 0 0 0 0 0 0 0 0 0
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+F 16 37 16 21 0 0 0 0 0 0 0 0
FhE 1,458 3,392 1,659 1,733 12 8 2 3 21 8 3 7
% X X X X 0 0 0 0 0 0 0 0
B 37 94 43 51 0 0 0 0 0 0 0 0
e 139 226 114 112 1 2 1 0 0 0 1 0
FHIEA 44 73 38 35 0 0 0 0 0 0 0 0
E4=] 305 792 365 427 A4 A9 1 0 0 6 1 5
AFF 4,626 11,532 5,609 5,923 3 1 7 10 22 18 16 16
BEK-HH 16,959 41509 20,042 21,467 14 A 20 25 44 99 114 99 85
EEF 3,610 8,116 3,855 4,261 A3 AT 5 7 26 32 8 7
FER 1,069 2,539 1,269 1,270 5 0 0 1 7 7 8 7
A @ 2,206 5114 2,507 2,607 0 A 12 5 7 6 17 17 16
JEZzA 930 2,224 1,067 1,157 A2 A9 1 1 6 6 4 13
GE = 285 700 345 355 2 4 0 0 1 0 3 0
N 536 1,452 701 751 A5 A6 0 1 0 3 1 3
E 745 1,877 915 962 1 A3 2 2 7 3 2 9
FFNI 456 1,238 612 626 3 1 0 2 3 4 5 1
/% 805 2,076 989 1,087 1 6 2 1 7 4 6 4
EKETH 423 991 475 516 A2 AT 1 1 1 7 5 6
ANl 551 1,447 705 742 A1 A4 1 5 1 2 5 4
JERETH 172 403 192 211 6 13 0 1 1 0 13 0
St 2,005 5,271 2,518 2,753 4 3 4 7 14 11 6 3
=] 3,166 8,061 3,892 4,169 5 1 4 8 19 18 16 12
NE-EER 19,738 48,047 23,625 24,422 1 A 27 29 43 118 110 81 102
TiE 633 1,650 829 821 A1 0 0 1 2 0 1 2
==]::] 1,985 4,710 2,399 2,311 A6 A 13 6 6 18 22 5 14
R1E 890 2,152 1,076 1,076 A2 A4 1 3 9 8 4 7
i 2,428 5,797 2,809 2,988 12 16 4 7 15 11 22 7
L¥H 263 533 272 261 1 1 0 0 1 1 1 0
h¥HE 57 137 69 68 0 AT 0 0 0 1 0 0
T#iH 205 440 230 210 1 1 0 0 2 1 1 1
mE=E—TH 555 1,346 662 684 3 4 0 0 1 0 4 1
EEE=TH 948 2,301 1,099 1,202 3 A 1 4 10 4 10 14
HMBEE=TH 804 1,896 897 999 A6 A9 0 5 4 7 9 10
EfFE—TH 112 283 133 150 0 1 0 0 1 0 0 0
EffZ=THE 287 682 347 335 0 0 1 0 1 1 0 1
EffE=TH 204 463 216 247 0 0 0 0 0 0 0 0
EfFEMETB 209 495 246 249 0 1 0 1 2 0 0 0
EFFERTH 262 693 333 360 A3 A4 0 0 0 4 0 0
ERfFE 2,428 5,783 2,899 2,884 6 4 6 2 11 12 7 6
HE 1,017 2,796 1,353 1,443 0 2 1 2 7 3 1 2
BE—TH 862 1,984 988 996 A A2 1 1 6 5 1 4
BEEZTH 942 2,435 1,183 1,252 A5 A9 2 1 4 10 1 5
BE=TH 373 964 447 517 1 1 0 0 2 1 0 0
BEEMTH 615 1,475 726 749 1 1 1 2 5 2 0 1
BEARTH 458 1,068 532 536 A3 A 1 0 2 5 3 2
BEARTH 201 491 268 223 A2 A 10 0 0 0 4 0 6
BEEETH X X X X 0 0 0 0 0 0 0 0
B8 284 798 366 432 A2 A9 0 2 0 1 0 6
fEE—TH 244 480 247 233 A3 A6 0 1 1 0 1 7
mEE=TH 270 690 325 365 0 2 0 0 3 1 0 0
FEE=TH 234 540 265 275 A 0 0 0 1 1 0 0
IN\IBE—TB 466 1,160 585 575 1 2 1 1 2 0 0 0
INBEZTE 660 1,604 754 850 1 A3 1 3 0 2 4 3
INB=TB 482 1,237 586 651 3 2 0 1 4 0 0 1
IN\IEET B 298 799 405 394 1 2 2 0 1 3 4 2
N\ IR 62 165 79 86 2 5 0 0 3 0 2 0
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NE-JLEB 9,627 26,298 13,155 13,143 A9 A4 11 23 58 58 72 64
R 2,232 5,598 2,875 2,723 A1 10 4 1 27 18 14 16
Rk H 1,510 3,836 1,959 1,877 A6 A9 2 4 8 13 11 13
£7 379 919 465 454 3 10 1 1 2 0 8 0
RV 376 963 495 468 A2 A3 0 1 1 1 0 2
=H 960 2,534 1,264 1,270 0 A8 1 4 3 7 5 6
FHR 1,320 3,800 1,909 1,891 A3 A3 2 2 8 11 5 5
XKIF 423 1,134 570 564 12 14 1 1 2 0 14 2
HAK 39 118 58 60 A1 A 0 0 0 1 0 0
AAK 195 608 288 320 A1 A2 0 1 0 0 0 1
HEE 192 661 301 360 1 0 0 1 2 1 0 0
EEE 353 1,004 505 499 0 0 0 2 3 1 2 2
SEeE 243 718 344 374 0 0 0 0 0 0 0 0
SRR 276 792 399 393 A3 A6 0 1 0 2 0 3
SR 131 817 397 420 A 10 A 13 0 1 1 0 0 13
BENE 219 658 301 357 1 2 0 2 0 0 4 0
LEH 218 681 325 356 0 0 0 1 0 0 1 0
TXRH 224 654 321 333 1 6 0 0 1 2 7 0
L) 282 602 280 322 0 Al 0 0 0 1 1 1
FEKXR 55 201 99 102 0 0 0 0 0 0 0 0
& 4,655 12,124 5,982 6,142 1 A 4 6 9 17 26 21 13
A 1,574 3,738 1,843 1,895 A3 A2 1 4 9 15 11 4
FRE 159 432 211 221 0 1 1 0 0 0 0 0
R 1,278 3,255 1,624 1,631 6 2 1 1 3 4 10 7
®yrE 4 13 7 6 0 0 0 0 0 0 0 0
LHT 70 207 102 105 0 A1 0 0 0 1 0 0
IMER 411 1,323 603 720 A2 AT 0 2 0 4 0 1
1) 34 97 44 53 0 0 0 0 0 0 0 0
AR 77 307 160 147 0 0 0 0 0 0 0 0
N 1,048 2,752 1,388 1,364 0 3 3 2 5 2 0 1
e 0 0 0 0 0 0 0 0 0 0 0 0
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INARTE 79,163] 194,022 94,667 99,355 43 A 64 103 187 483 463 420 420
Fi# 564 1,515 731 784 Al A4 0 1 2 2 0 3
thk 27,620 64,529 31,132 33,397 37 A5 32 67 189 153 147 153
BEK-#H 16,959 41,509 20,042 21,467 14 A 20 25 44 99 114 99 85
JIIER -FIER 19,738 48,047 23,625 24,422 1 A 27 29 43 118 110 81 102
MEXER: 9,627 26,298 13,155 13,143 A9 A4 11 23 58 58 72 64
=1 4,655 12,124 5,982 6,142 1 A4 6 9 17 26 21 13
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